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Question No: 33

a ) Describe the role of rivers in economic development.(Marks 05)
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If the student writes a complete correct answer, then give full five
marks. For writing partial correct answer, give one to four marks.
For writing complete wrong answer, zero mark should be given.
Sample answer:

Rivers are important for the economy of any country. The water
from the rivers is a basic natural resource that is essential for
various human activities, like:

1. Rivers help to generate hydro-electricity.

2. They enhance fertility to the soil.

3. Rivers provide water for irrigation.

4. Rivers are best sites of tourism.

5. They provide water for various domestic uses.

6. They provide livelihood to fishermen

Explain the importance of plains in landforms.(Marks 05)

If the student writes a complete correct answer, then give full five
marks. For writing partial correct answer, give one to four marks.
For writing complete wrong answer, zero mark should be given.
Sample answer:

A plain is a broad area of relatively flat land. Plains are one of the
major landforms, or types of land on the Earth. They cover more
than one-third of the worlds land area. Plains exist in every
continent. Many plains, such as Indus Plain in Pakistan (including
upper Indus Plain and lower Indus Plain) and the Great Plains
that stretch across much of Central north America are
grasslands. Grassland is a region where grass is the main type of
vegetation.

Question No: 34
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a ). Suggest the ways for improvement of agriculture in Pakistan. (Marks 05)

If the student writes the answer completely correct, give full 5
marks, if writes partially correct, give 1 to 4 marks and zero
marks for incorrect or irrelevant writing.

Model Answer:

We should take following measures to improve agriculture in
Pakistan. For Crop rotation we should improve soil fertility and
reduce pests.Enhance irrigation system to conserve water and
reduce wastage.Promote balance fertilizer to maintain soil
health.Integrated pest management techniques to minimize
chemical usage.Introduce mechanised farming to increase
productivity. Encourage use of high-yielding diseases resistant
seed variety.
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Describe the importance of agriculture in Pakistan economy.(Marks 05)

(05/)_q/uy,¢zfzuu’wwuﬁoﬁ¢’”&l>@



https://pecassessment.com/admin/pilot_items/pilot_view_combine/9459

/,:ubd}'it%’)/é&d_g;"‘at‘ﬁa&,iﬁd’{mu/;r)‘b)tb//i
If the student writes the answer completely correct, give full five /1}/""u’:cu/(f’&%gwyLc@)//lgbugé'&ggiﬁwu

marks, if writes partially correct, give one to four marks and zero U
marks for incorrect or irrelevant writing. -
Model Answer: 2_/l;?(¢/

Employs43%of workforce related to agriculture. Contribution of J"/’)Uw d}ﬂ’ éy"L&’JJM&JgWKd;LT&JG
agriculture in GDP is 20%.Agriculture provides food security for - e - 4 C

population. Generate foreign exchange through exports. We can J//%d//..b?'vﬂ/iiid’“ y!;},%ﬂdw,ﬁ&ﬂ
say it is the backbone of our economy. &JW&’JJIU.?éJ/gﬁ-C‘—VﬂJFVJ)V/JC‘—&UT/.
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Question No: 35

a ) List five green ways you can adopt to protect your environment. (Marks 05)
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If student write completely correct answer, he will be given full V'ﬁ;w?/jtW/}'-u’)ﬁ}zlpavfl;ég/ﬂ/ubd,‘[o,ﬁ
five marks, if he writes partially correct, then give one to four ’ * ” ® - ®

7, 7 .
marks and give zero marks for wrong or irrelevant answer. _Kglg.t‘)///‘/,:
Sample Answer: c NP s
We must turn off the lights whenever we leave the room. - . % . Kt )

We should turn off the water tap while brushing our teeth. J2_{Tl5l¢;/'/,v;’/g* Ud‘wju:g/ﬂ‘;‘/ﬂf“‘} 1
We should unplug the computers and appliances when not in ;uﬁdb&’l,3_¢‘lpt'¢)//4’/./‘j£dtc:ﬁﬁL/JLa;'/‘b;J
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We can make a compost bin and use it.

We should walk or ride bicycles instead of using car or bus. Z_Q%Z:J_/'UL’J‘“!Jszgf.S_uyédelcwlujé
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Explain the concept of 3Rs being green.(Marks 05)
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If student write completely correct answer, he will be given full
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five marks, if he writes partially correct, then give one to four oA //l *
marks and give zero marks for wrong or irrelevant answer. I_'J}?KA_J’

Sample Answer: ﬂ/ _/U?/ §5_J (K Reduce-(f Recycle.s/ Reduce<Reuse

3Rs are Reduce, Reuse and Recycle. Reduce is about using fewer

resources. Reuse is about finding another, green use for an item Xﬂ’ﬁ—‘géLaU/UL’p’Ml:”RCUSC-‘Lt/dW’J L
one would normally consider ready for the trash can. Recycle is iLd/}’bd/dﬂ/ﬂbrtﬁéédﬁcﬂéé—/fw}(dw’
3 X3 . .

about ensuring that all waste is sorted and sent to a recycling LS ’
plant, where it can be used to make something new. CLU’{G/ELLL"&/"‘QJ’J? Vd/ReCYCIG"LH?L;.ﬂ/g
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Question No: 36

a ) Describe the motives which became the main causes of the Crusades.(Marks 05)
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If the student writes the answer completely correct, give full five M/Lbﬁ/:!u’)/}étjat‘ﬁg lic«/u/ubd"(H‘JtBﬁ
A oo L % h:d ¢ o .

marks and zero marks for incorrect or irrelevant writing.

Sample answer: -Q}/)":}.Lb‘alﬁ

The first Srusaders had a variety of motivaions, including NP
religious, salvation, satisfying feudal obligations, opportunities . P . .. - - )

for renown and economic and political advantage. ""’Ub[tf”&lfw“'uﬁqz‘&c:gf' JELU}:&M%
Later Crusaders were conducted by generally more organized _éd’lf&o/ﬁu‘u&g’ L,x,,ldl/&:,/‘-f’cl;//ug/ug/l;

iar:crruire;s:;:.etimes led by a king. All were granted pop JU}‘&(L;U.?4JJLUYikoJLJ4/?(bwGﬁyufﬂ
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Describe the importance of Saljuk Dynasty.(Marks 05)
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If the student writes a complete correct answer, then give full five L)/ﬁ/éy’ﬁw//”uj//bt‘bﬂ/éy’}?&”/}
marks. For writing partial correct answer, give one to four marks. T - * A
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For writing complete wrong answer, zero mark should be given. -2l

Sample answer: NP

Seljuk Dynasty(1037_1194)_The Seljuk dynasty was founded by 1 7o . I
” ' ' . - - * ' *
Tughril Beg(993_1063 CE) and his brother Chagri Beg(989_1060 d/‘?dtécfu’ ‘! (6#993 1063)"@")/)&*01) M,uj"

CE) in 1037 CE. It was a Turkish dynasty based in Central J/“..{l,-u”u’(/utdr:‘10372_(6)4‘989—1060)9@
Anatolia. From their homelands near the Aral sea, the Seljuks r.u}wdgw%}Ldma}-u?fi”uﬁ,j}buf’mu?uuu

advanced first into Khurasan, then into Persia and Anatolia. The

Seljuk won the battle of Manzikert in 1071 CE and conquered Vs ip—d/d/‘;ﬁ’ uﬁ%ﬁtl;,iu’;@/ﬁfub«i}%é_ufﬁp
most of Anatolia from the Byzantine Empire.This conquest of KJ?ULW&JL/)UM.@J&/{‘/‘J&%?1071
Seljuk became one of the reasons for the first Crusade (1095 . ~ a5 . X R
-1099 CE). It was weakened during the first two crusades. The J‘j”f 109901 096"6?‘5’%45 ‘ﬁ"(:’/‘fu” jv*ﬁzj/’/i’”}/{
Seljuk Empire was invaded by the Mongols around 1194 CE. The /“&J,%‘_&fnﬂ/uw,‘Cuﬁgj}’”&d_&?,vg
Seljuks are regarded as the cultural descendants of the Western R o . 7
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Turks. In present days they were inhibitants of Azerbaijan,Turkey
and Turkmenistan. AL UM T e im0 bl 51l

Question No: 37

a ) Describe the Akbar's Reforms as Mughal Emperor. (Marks 06)
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If student writes full correct answer then award full six marks. If a éy'ﬁ&/;)d}'i-%)ﬁ/pj;‘at‘ﬁaylﬁwuy/ﬁﬁi.ﬂw

student writes partially correct answer then award one to five ‘s é “loon ¢ . 75
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marks. If a student write wrong and irrelevant answers then “ //@i“ ~ / " / =0
award zero marks. L,U?KL/
Model Answer: j/rlbj;l/l;[lng/?Lu’L.L‘t;rtbju{!gL/Laf"(l}fg/Lu’l,1

1.He generated a system to collect revenue. He replaced old d .
feudal system with mansabdari. “Ddre G

2. Akbar selected good principals from different religions from gvﬂmgfvéﬂgujﬂ;é;{__/‘.ubjﬁ;f_/él/.’éﬂ.z

subcontinent and introduced a new religious policy " Din e Illahi" g . |
- U/_J/L:-’?"UZJIJ)" “L&a
3. Second battle of Panipat was fought in 1556 CE. -Jdﬂu’:drf 1 556..«@,6/»({:46&.3

4.Akbarwasn? Kabul when he got news that Hemu Bagal had -LU/J;"/“U(TA'J‘)LJ@%I&};!@QJ&KAA
captured Delhi and Agra. C : :

5. Akbar ordered an army to march towards Delhi. His army g«?i!ffd.@}’ JJL&){KA./@/J} JJ‘)/@)’L/T.S
seized the control of artillery of Hemu. U/’/,J}/Llp

Describe any five services of Sher Shah Suri. (Marks 06)
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If student writes full correct answer then award full six marks. If a
student writes partially correct answer then award one to five

marks. If a student write wrong and irrelevant answers then K
award zero marks. s &
e U E1545-1540m 1 0K Surals 2

Model Answer: ¢ ) .

1. The reign of sher shah suri is from 1540-1545AD. ul/‘;/“o/'/i Ald")ugu;?cdé.ul.;{o@jﬂLUJJ)U?JU{VZ.V
2. After the exile of Hamayun , Sher shah was the soul ruler of & ol
Behar, Bengal , Jaunpur, Delhi and Agra. G L. . ' .

3. He was the only ruler of subcontinent who created an L‘g.fﬁrﬁ*lzuﬂ’/’hbdfo {Lﬁjdw’f—uﬁéw/ﬁﬁ”g/' J
administrative structure and understand that government _2:_%&},‘.)&;:6";&{, Jyﬁf

should have a public basis . ,G ’( .
4. He managed his local affairs intelligently and govt Prospered =AWl e e *’-"U‘L”‘U,u‘%u—u/’-p’

economically ,politicalyand administratively. —&ﬁdgj//}bd@'/ﬁ"db‘dﬁw”

5. He devised a currency system to solve the problems of e . ’ 7 - SO
inequality in imports and exports. UH/‘J'LZ—/JO’KJL”LV{MJ&U'4‘9’1" '/)4’-0/’-‘5
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